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A 1.00 75, 800. 00 75, 800
F{EHRAm GRED
A 1.50 64, 800. 00 97, 200
HEm (A)
A 2.50 57,000. 00 142, 500
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A 2.50 47, 200. 00 118, 000
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A 1.40 64, 800. 00 90, 720
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A 2.50 64, 800. 00 162, 000
HEm (A)
A 9.50 57,000. 00 541, 500
HEm (B)
A 7.00 47, 200. 00 330, 400
HEh (C)
A 9.50 38, 400. 00 364, 800
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A 1.80 64, 800. 00 116, 640
HER (A)
A 1.80 57,000. 00 102, 600
HER (B)
A 4.30 47, 200. 00 202, 960
HER (C)
A 4.90 38, 400. 00 188, 160
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A 4.30 33, 600. 00 144, 480
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A 1.00 64, 800. 00 64, 800
HEm (A)
A 1.50 57,000. 00 85, 500
HEm (B)
A 1.00 47, 200. 00 47,200
HEh (C)
A 1.00 38, 400. 00 38, 400
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FEHAR (F%E)
A 1.00 64, 800. 00 64, 800
HER (A)
A 3.00 57,000. 00 171, 000
HER (B)
A 2.00 47, 200. 00 94, 400
HER (C)
A 3.00 38, 400. 00 115, 200
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A 1.00 33, 600. 00 33, 600
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F{EHRAm GRED
A 2.50 64, 800. 00 162, 000
HEm (A)
A 3.00 57, 000. 00 171, 000
HEm (B)
A 2.00 47, 200. 00 94, 400
HEh (C)
A 3.50 38, 400. 00 134, 400
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FEHAR (F%E)
A 1.00 64, 800. 00 64, 800
HER (A)
A 1.50 57, 000. 00 85, 500
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A 1.00 38, 400. 00 38, 400
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A 2.00 33, 600. 00 67,200
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FEHAR (F%E)
A 1.50 64, 800. 00 97,200
HER (A)
A 2.50 57,000. 00 142, 500
HER (B)
A 2.50 47, 200. 00 118, 000
HER (C)
A 2.50 38, 400. 00 96, 000
& it 1E%8ESN : 1.00=C 453, 700. 00 453, 700
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